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In the following question two equations are given in variables X and Y.
You have to solve these equations and determine relation between X and Y.
faferRaa wer ® S aeftetor =R X iR Y ¥ U v §) strueny 1 et st
T AT 8 AR X R Y & sfrer Harer frerifea seam 21

—& 3 |X)5 = —4S
mo ’ J %%%

—lo ;—éjxl = ~Qo5 — ]2

L
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C.X2Y :

<Y

A.X>Y \}fX <Y
E. X=Y or No relation can be established
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In the following question two equations are given in variables X and Y.

You have to solve these equations and determine relation between X and Y.

FreferRaa war # 3 wetemur =R X ofR Y # f2u T §| struent 3 aefieRtott st
Waﬂm%aﬁwxgﬁ'gsgaaaﬁaw&rﬁafﬁﬁw%l
P

I. 2x3 =@
' A\,

3—|€

E. X=Y or No relation can be established
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In the following question two equations are given in variables X and Y.

You have to solve these equations and determine relation between X and Y.

FreferRaa war # 3 wetemur =R X ofR Y # f2u T §| struent 3 aefieRtott st
3ﬁmwﬁﬁﬁxﬁhv%ﬁammﬁﬁﬁﬁmn%

o -
o, ! +;>;7><g &3 %

ILQE§§Z§0 +3 +§k%

A.X>Y B.X<Y C.X2Y D.XSY
E. X=Y or No relation can be.establisheg
i Tare TATIUA A& foRT ST Tehdll
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In the following question two equations are given in variables X and Y.

You have to solve these equations and determine relation between X and Y.
Freferfaa wer o 2 wrtertor =) X 3R Y # feu 7w ) st 3 aHteRtont st
T HIAT E 3T X 3R Y o ofrer Harer Frerifia sweAm @)

G - G;—’SYXZ 5~(°?-4f>
1@%0 B .)_qxgi—o?l\léfﬁ-(L

Oy O11y®H14=0
Ilw %}Z%j

D.X=Y

A.X>Y  B.X<Y ﬁZY >
E. X=Y or No relation can be established
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In the following question two equations are given in variables X and Y.
You have to solve these equations and determine relation between X and Y.
freaferfaa ayr & 2 afewor @) X 3R Y # f2u 7T | srruent 3 wrieRun sy
gamwﬁakxﬁhY%ﬁawmﬁﬁﬁmmm%
— 8 -’5])&14’ =-8-3
/ </ %4
L@+ 1fx¥z=0 —/ - :

X —_—
H@224J9=0
4G
A.X>Y B.X<Y C.X2Y
E. X=Y or No relation can be established
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In the following question two equations are given in variables X and Y.
You have to solve these equations and determine relation between X and Y.
faferRaa wer ® S aeftetor =R X iR Y ¥ U v §) strueny 1 et st
T AT 8 AR X R Y & e Harer frerifea a2

B
& =7 3y =-s -9
p) = . g '
I.ml—ﬂ _0?0 :'/é]XM = ‘[/4()\/1{,()_

= RAXRX S
AX>Y (BELYS C.X2Y

E./X=Y or No relation?'coan be established

G TATT T2} fopar ST awaT e

IL(24)™+ 26y +5 =0
M‘MVS f zk&@

. XSY
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Line chart given below shows number of labours (men and women) working in
six different years. Study the data carefully and answer the following questions.
frer fQ TG ST =S B ACTT-AT ¥ H HTH A Tel AU (&N 3R
TiReATaiY) sht TEaT STt ¥l 32T T eaHuds s7eaae o iR fmferftaa weit &

I

2013 2014 2015
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Total number of Men working in 2012 and 2013 together is approximately what

percent of the total number of labours (Men + Women) working in 2014?

2012 3R 2013 H Tehs AT HTH THIA AT HHT chl Thet AEAT 2014 H HH &l AT
TG (TEN + Aiger) 3l et T T oo fee wfaera 22

A. 60%
B. 70%
C. 80%
D. 90%
E. 40%

2015
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Average number of Women working in 2014, 2015 and 2016 together is how
much more/less than average number of Men working in 2011, 2014 and 2016

together?

2014, 2015 3T 2016 T Tk TTA HTH KA AT ATZATST hi 3719 T=TT 2011,
2014 3R 2016 H Teh AT HTH THIA ATl GHUT hl AT Tt § fera-t arferes/ &a

22

. 100~

. 80
. 90
. 70
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Number of Men working in 2017 is 15% more than that of 2015 while number
of Women working in 2017 is 40% less than that of 2014. Find total number of
labours (Men + Women) working in 2017?

2017 H STV ST AT TEHT 6T HGAT 2015 HT T H 15% T2k § Talfeh 2017 §
HTH T TTEAT ATSEATST hl HEAT 2014 T TAAT H 40% HH 21 2017 H HH A

aﬁnmaﬁma‘wuﬁgmaﬁ)aﬁwawawﬁ?

2012 2013 2014
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Find the ratio between total number of Labours working in 2012 and 2013
together to total number of labours working in 2015 and 2016 together?

2012 31 2013 T Teh T I HTA ATl et AT shl AT AR 2015 AR 2016 W
Teh | ShTH ST ATl el ASAGH chl HEAT ShT FTUTA AT chiTeT?

A.21 (B.1:)) C.3566  D.11:10  E.Noneof these
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Total number of Men working in all six years is how much more/less than total

number of Women working in all six years together?

THT BE TUT H HTH A AT HHT hl el HEAT el THATRL B AT H BTH A
AT ATEEATS <hl TEAT & feharT STfarh/&w §?

A. 140 B. 160 C. 180 \)).400 E. None of these

400 N 6 neh— MQJ’L

300 M

200
150
100

50

0
2011 2012 2013 2014 2015 2016
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Find the number in the following number series:
freferRaa dwan siwe # Tera d@ear Jra hift:

05

4 51 73 106 15 24 27.1
N '~ ~— S

1T 433 433 45T 455 464

A.5.1 B.4 C.73 ([ D.20) E.271
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Find the wrong number in the following number series:
freferRaa dwan siwe # Tera d@ear Jra hift:
423

2 3 1 154 (Bad)\ 6460

X ><3—J - i X5 X6 XTI~/
A.924)\ B. 6460 C.154 D.8 E. 31

A

—_———
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Find the wrong number in the following number series:
freferRaa dwan siwe # Tera d@ear Jra hift:

Q50
251\_/}51 254 227 243\‘/118 154

af; 350 —3% +€ —Fs +3C
A. 251

1 B2 |c. 227& D.pa3 . 154
— 13 192 P Fi2 _G3 (>
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Find the wrong number in the following number series:

ﬁmﬁﬁaﬂmmﬁmmmaﬁﬁn

/\ /\

\/

+. ¢
A.156  B.153 o 147 /165 E. 159
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Find the wrong number in the following number series:
ﬁ'ﬂ%&ﬁ#@m ST § TTeAd HEAT AT hITTT:
2 & {()\/ 19\_/36\/ 69¥/ 134
K2 x5 3 3 23 L5
A. 1342 B. 69 9 C. Pé 2 E. 10

22

q
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Find the wrong number in the following number series:

freferRaa dwan siwe # Tera d@ear Jra hift:

05

0.5 \@/1 4 32 512 16384
N —m " ~__

] X2 XYy XP x(6 X322

A. 1l ( B. 2 i C.4 D. 32 E. 512
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ﬂ?—&ﬁ ‘A’ can complete a work in 20 days while B is 25% more efficient

2B =45 than ‘A’. B worked for 6 days and left; remaining work is
Qo completed by ‘C’ in 15 days. Find in how many days ‘C’ can
= 5X6+CX |Qomplete the whole work alone?

B6 = B0+ 1SS <A1 20 Tt ¥ weh 1w T X FekelT B AR B ¢S' Y g 25%
sifreh BTt 31 B ¥ 6 Tt 3 forg shrw Rt o Bt foa; S et
*C 3T 15 Tt @ our fomar St 31 < ToRae faAt & erenet o e
T T TehRaT 82

C = B¢ ~ &L{ A.27 days B.21days C.8 days &24 days E. 30 days

(%) ()
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Ratio of present ages of@;nd B is 16@ After 12 years, A’s age is

twice of B’s age then find present ages of A and B?

A 3R B ST TAHT 3T T TTUTT 16:7 21 12 AT 18, A i 3T B

<hT AT W NHT E, a1 A TR B <l TG 2

A. 64yr; 28yr B. 80yr; 35yr /C. 99yr; 42y DN02yr; 49yr
i N

E. None of these NA° B= lg. +=

AR &
Ty T}Lg* v e B2 px

/\-H2 +D_ %’( lBﬂ

>
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earned 1950 as simple interest. He increased his sum by ‘¥ x’ and

invested in another scheme B at the rate of 10% p.a. C.I. for 2 years

and received 1680 as compound interest. Find the value of ‘x’ ?

o = (6507 iy e A 3 1594 o e 2 v 3 Forg s e o
100 = 10410+ 5~ farer femarm @ Eermor saT=t o & § % 1950 2rfia foram 3weiv et

v - R i T x ' TR 3R 10% Tfa ¥ T WA C.I W 2 T & 70 Uek
Ro i .
é&ﬂiv%w%@m 3R whim B 7 far foam o wshafg st o6 &9 7 2 1680 Tmw foram)
‘x* ST HT TTd Hi?
05T+ X~ B A.¥1750 B.¥1500 C.¥1250 D.¥1850  E.None of these

T
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Ram bought a bike at 20% discount on MRP. After 1 year Ram sell
the bike to Ramesh at 10% loss. After 1 year more Ramesh sell the
bike at 20% profit to Raju. If Raju paid ¥1,29,600, then find the

M.R.P. of the bike ?
T I MRP W 20% T D€ U Teh A1k TG 1 AT o a8 T F WA
T 10% THEAT W AT 9 S| 1 |TeT o qMG I T 6T 20% T

TR T3k J<| a/ﬁ:}wﬁa,w,moww%w%,a‘rmw MRP
S bR RSTARESES

|0

s
A.fl,so,()@ B. %2,25,000 C.%1,40J, 00 D.%2,00,000
-l 2%% N 0

E. %1,80,000 9 & 1296 0>
X SX1o0X§

£xAxE >
~ |SO000
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A mixture contains wine and water in the ratio S : 1. On adding 5 litre

of water, the ratio of wine to water becomes 5 : 2. The quantity of

wine in the mixture is ?

A THSTOT § IO R UTHT T STTUTA 5:1 §1 5 T et ar= e o, I
AR U1 ShT SFATUTA 5:2 B SATAT &) TH0T T IRIeT Y WAt fehet it 22
A.20€ B.22€ C.24€ D.26€ E.Neneof these

4 Néz ate> S L
21 2 =S

+5W 3

L)

|
L 592 L(%x\
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@ The average salary of th@n an office is ¥3200 per month.

9% N % The average salary @s 6800 per month and that 0@

9w officers js 2000 per month. If the number of officers is 5, then find
66@0? 4 the number of non-officers in the office?

20N ek wmrater B O 2T T SiTEE e £3200 U ATe 31 srferemTiE
~1260 % —3(7> AtEd a9 26800 Uf UTE B R TR-rferemTiea w1 22000 i ureg 21 afe

IR sTferenTfeat &Y O 5 B, At wratera 3 TR-orfreRTRAT sht EeaT JTd w2

U

S A. 8 B. 12 \.}/15 D.5 E. None of these
23

[ =15 ()
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A man travels from Point P to Q with 90 km/hr and from Q to R with
2 60 km/hr. Total distance between P to R is 200 km. If his average
—7”5;peed is 75 km/hr then find the distance between P and Q?

Tes Tredt foig P & Q ek 90 forti/eieT 3R Q R ek 60 ferwftyeiat <
AT FTAT HIAT 8| P& R o et ot oher T 200 Toret 21 afe swehr aitea
+ 207X 5 e 75 Reefyeier 3 At P 3R Q 3 ot 1 g T iR
< Jn—>

o)
Q? A.80km B.120km C.100km D. 150 km E.None of these
1+ 60-3x= 4Bo

IBPS RRB Pre 2019
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Study the following graph carefully to answer the «=Shop A ==Shop B

question. The data below is given in 25

T T 37X 2 o foru FreferRaa o =6t %m:rqém
mwﬁlﬁ%%w%aﬁm‘rﬁf&mm%{c
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What is the approximate average number of books

sold by Shop B during all the days together? 25
TR B gRT At faAt # ves wmer St S vt

TEAShT hl SITHTIHE STTEd TEaT T 82 20
A. 1193 Tkl = 112

ix\cw

15

B. 1867
C. 1534 2
D. 2246 l% (
E. 2048 Py =

Number of Books Sold

IBPS RRB Pre 2017
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What is the respective ratio of the number of «=Shop A ==Shop B
books sold by Shop A on Thursday to the
number of books sold by Shop B on Monday?
T A SRT THAT <hl s[eil T3 TEehl shi HE&AT
T AW ST FohTT B FRT St 715 G&dehl <hl
TEAT | G STuTd o1 82

A 11:12 0415

B.7 :5 @ g
C.3:4 —

D. 8:3

E. None ofthese

=
p—
S
25!
74}
=<
o
S
==
S
2
—
o
=
=
=
Z.
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e=Shop A ==Shop B L\

What is the respective ratio of the total
number of books sold on Friday to the total

number of books sold on Thursday?

YSRAR Sl St T3 YEdehl chl Shel HEAT T
Wwﬁéﬁnﬁmﬁﬁwmﬁ
FR? £1.5: 425

A.14:13 4254395
B.13:14 95 ps

G

E. None of these

Number of Books Sold
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—Shop A —Shop B

b @
O
Py

The total books sold by Shop B on all days
excluding Wednesday is what percent of the
total number of books sold on Thursday,
Friday and Saturday together?

T B FHT TR skl BIget At foat o ar=ft
T3 et fehdTel A, JEha R ITAE i Tk
T ST TTZ TEAhI hl el ST T fohe =T

9T 82 gogeg

A. 73.46% | B 106
B.167% . & =

C.177%
D. 138.5%
E. 137%

Number of Books Sold
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The number of books sold by Shop B on
Friday is what percent of the total number of
books sold by both Shop A and B on all the
days together? (Rounded off to the nearest

integer)

T B T J[shaIR <hl ST T3 JEdehi chl HEAT

e FHeTTeRt geRT A 31X B 31T g areft 1
TEAehT Sh el |EAT ot TehaT Tfaerd
(ﬁmwwmﬁw FTATH) 25 10

—

NARS)

A, 21
I =
@ Z.

Number of Books Sold

E. 15 IBPS RRB Pre 2017




IBPS RRB-2023 (LAST MINUTE BOOSTER)

What will come in place of the question mark (?) in the following number series?

freferRaa et siwe ° wy g (2) & wum W Arem?

Bk
17, 98 89 35

-\—8_’( —\1?— +42 ~64 +,4‘g
A. 8{} B,\Y 75 & C. 6‘7 ’\ D.5 E. None of these
e 9%

Ixq9 o IF Y P
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What will come in place of the question mark (?) in the following number series?

freferRaa et siwe ° wy g (2) & wum W Arem?

2, M7 8% 359, 1079,
XG5 X5H X3 X3P Xy

A. 2137 B. 2121 C. 2377 D. 2159 E. None of these
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What will come in place of the question mark (?) in the following number series?

freferRaa et siwe ° wy g (2) & wum W Arem?

g
R 5 15 45 113

N [0 30 co |30
A. 2%0 &B. 243 L C. 247 D.IZ61 E. None of these

BH QU BHF B, gRc
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What will come in place of the question mark (?) in the following number series?

freferRaa et siwe ° wy g (2) & wum W Arem?

~—_ 7
X054+ X| 4 X Lt |
A. 393 B. 396 C. 354 D. 367 E. None of these
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What will come in place of the question mark (?) in the following number series?

FreferReaa e siwe ° wy g (2) & w&um W JArem?

@%/ﬂs

4 p) ] 4.

\,/S Ov ~ 7,¥|/ , N ?
—C —5 —+ L -3 — 2

B. 10 C.9 D. 8 E. None of these
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At present, the sum of ages o . After 7 years, the ratio will be
7 :6@8. Find out the present age of C?

H, 4 TR ShT 31T T ANT 76 B 7 ATEA A1E, FATUTA 7:6:5:8 T C HT FAHE
b s T HIRTEA?

A 12 B. 11 . 13 [H( % None of these
j=tx2
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Markg&prlce of an article 1@110re than th%cost prlc§ When the same
artlcle is sold at a discount of ¥500 then the erc t earned i 250 For

= A+ cdo — AL K
earning a profit of 30%, the artlcle should be sold at what price? * é

T % i g WW‘@[?MOO a1fereR 1 9T waﬁwsﬂoeﬁwm
ST AT g T 3T 25%%| 30% T ATH HATH o oTT, g i fofe Teg @

ST AT T2 AP ,® ﬁ?@kl%o E:FQO(@*\&)

A.T5740 B. %5720 * C. %5620 D. %5730 E. None of these

XHIO €
= SX = (-1)(“)* L(\‘Ldb
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A takes 24 day in completing a work alone. Time taken by A in completing 1/3rd of the

work is equal to the time taken by B in completing half of the work. How many days

will be taken in completing the work if both A & B start working together?

A Y TRl T a1 OXT &R H 24 T3 T ) A T 6T o 1/3 T 01 S § S0 STt 98
B o 3T Tl ohl UXT i § ST STe! 89 o aXTeR g1 A1 A & B FH1 Ueh ATY I HEAT
%m%ﬁwwwﬁﬁmﬁﬁqﬁﬁy

A.21/3 days B.48days C.40days D.48/5days E. None of these
A b o= 8lx3= kD

A 43
Ate- =
g
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A train left from station A for station B at 4 pm at an average speed of 80 kmph. At 8
pm, another train also had left from station A for station B on a parallel track at an
average speed of 120 kmph. How far from A is another train expected to overtake the
first train? Po 120 = g5

TEI A ¥ Teh ¢ €9 B o forg v 4 o1 80 fereft wif wie <t eftera ifa & @ 331 1ra 8
TS, Teh 3T ¢ WY I A o {oTU =9 B ¥ Ush ORI ¢oh WX 120 Tertt ufd o <hi
aftere T B T oft et S o it et o A 8 e i e e

A. 900 km B. 940 km C. 960 km . 980 km E. 920 km
f\f- Box =320 P™ #_,),J(\e’ﬂ?

22
L (‘1‘-%5@? —He %3
Blhah (20 ~2—> =~ Y 6o k}\
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In a business, A invested ¥1200 more than B. B invested his amount for 15 months while
A invested for 4 months more than that of B. If total profit was ¥ 1240 in which the
profit of B is ¥280 less than that if A, what was the invested amount of A?

Teh STTETT |, A ¥ B & 1200 37feren T farer fomam B 7 sroet wfdt 15 w&ta & foro ffawr
61, STETeh A T B 1 T H 4 WE 317ereh o Torg ferT fomam e et amst 21240 o,
9T B 1 AT A A 2280 A B, AT A <ht e foTa wisT == oft? Ci+b = 1940

A. %6000 B. %7000 C.%5000 D. %8000 E. %6500 ¢ ~b= &B ©

X< 365 2q =S

TX—IL@)XI S 4Py A=7F60
\ _ | 2 h< |2 p—Féo
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A bucket contains a mixture of two liquids A and B in the proportion 7: 5. If 9 litres of
the mixture is replaced by 9 litres of liquid B, then the ratio of the two liquid becomes 7:
9. How much of the liquid A was there in the bucket ?
T FTEEt | 7:5 o SIIUTd W 31 a0t A 3T B 3T Tl9r0r 81 ag 9 wiiet fsror i 9 ey e
B & SrEeT 3T ST 2, @1 31 aXeT ST STTUTd 7:9 B SATAT 81 At W R avet A om?
A. 21 litres  B. 15 litres C. 23 litres D. 18 litres E. 25 litres

(R

— 4
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The difference between Simple Interest and Compound Interest at the rate of 12% on
the same amount for 3 years is ¥112.32. What is the principal amount if interest is

compounded annually?

3 |TeT o ToT T TieT W 12% T A ATUROT AT 3R Ashd (g, SATST o S T S
%112.321 AT ST ATATT FHeTar &, a1 7T Wit T 32
A. 225000 B, #2500 C. 350000 D.¥5000  E.%2000

Cl-s7 = Pr{(am)
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The speed of a boat when travelling downstream is 32 km/h, whereas when travelling

upstream it is 28 km/h. What is the speed of the boat in still water?

HATIATE TooT § AT e T e 1 hi it 32 Fereiyeter &, wafen seiwas faom & awn
I AU AT 28 ToRHI/eeT 8| ITTd UTHT H TS Shi i ohT 82

A. 27 km/h B. 29 km/h C. 31 km/h D. Cannot be determined

E.\NW above X =
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A shopkeeper mixed two verities of rice at ¥40/kg and T60/kg in the ratio 3:2 and sold

the mixture at 10% profit. Find the price per kg at which he sold the mixture?

forew o =rTerer 3:2 % eruTa W farema ok
shifeTe o o 3w fasror a=m?

None of these
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4 )
Thank You




